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Solve each equation.
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Solve each equation. Round answers to the nearest hundredth.
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12. 4x − 5 = 12
Solve each equation. Check your answers.
13. 
[image: image12.wmf]log2

x

=


14. log 4x = − 1
15. log 3x = 2
16. log 4x = 2
17. 4 log x = 4
18. 8 log x = 16
19. 2 log x = 2
20. log (2x + 5) = 3
21. log (3x − 2) 5=3
22. log (x − 25) = 2
23. 2 log (2x + 5) = 4
24. 3 log (1 − 2x) = 6
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Solve each equation.
25. log x − log 4 = 3
26. log x − log 4 = − 2
27. 2 log x − log 4 = 2
28. log 3x − log 5 = 1
29. 2 log x − log 3 = 1
30. log 8 − log 2x = − 1
31. 2 log 3x − log 9 = 1
32. 2 log x − log 5 = −2
33. log (x + 21) + log x = 2
34. Suppose the population of a country is currently 8,100,000. Studies show this country’s population is increasing 2% each year.
a. What exponential function would be a good model for this country’s population?
b. Using the equation you found in part (a), how many years will it take for the country’s population to reach 9 million? Round your answer to the nearest hundredth.
35. Suppose you deposit $2500 in a savings account that pays you 5% interest per year.
a. How many years will it take for you to double your money?
b. How many years will it take for your account to reach $8,000?
Mental Math Solve each equation.
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39. log 81 = x
40.
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41. log 1,000,000 = x
Use the properties of exponential and logarithmic functions to solve each system. Check your answers.
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